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QUESTION 1

Which statement about DB2 Merge Backup is FALSE?

A. It can be used to merge offline backups to build full offline table space backups.

B. It can be used to merge SNAPSHOT and TSM tape backup images to create a full database backup image.
C. It can be used merge multiple offline database backups to build a cumulative single offline database backup.

D. It can be used to merge backups on a machine that is different from the machine where the backup has been created
in stand-alone mode.

Correct Answer: B

QUESTION 2

Which category must be enabled before db2audit will record the creation of new buffer pools?
A. OBIJMAINT

B. SECMAINT

C. CHECKING

D. OBJCREATE

Correct Answer: A

QUESTION 3

An auditor has requested that all activities performed by those with SYSADM or DBADM authority be tracked. How can
this be done with the db2audit tool?

A. By creating a SYSADM ROLE and capturing SYSMAINT event records.

B. By creating an AUDIT POLICY and associating it with SYSADM and DBADM authority.

C. By creating a SYSADM ROLE and capturing SYSADMIN and CHECKING event records.

D. By creating a AUDIT POLICY and associating it with SYSMAINT, SYSADMIN and CHECKING event records.

Correct Answer: B

QUESTION 4

What will occur when a database administrator adds a new automatic storage path to an existing storage group?
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A. New table spaces will start consuming storage on the new path.
B. Existing table spaces will not consume storage on the new path.
C. The storage group will be placed in "Rebalance Pending" mode.
D. DB2 will verify that space is available on the storage path specified.

Correct Answer: B

QUESTION 5

Which configuration parameter setting(s) are needed to force authentication to happen at the data source in a federated
database environment?

A. FEDERATED set to YES

B. FEDERATED set to YES AUTHENTICATION set to SERVER or SERVER_ENCRYPT
C. FEDERATED set to YES FED_NOAUTH set to YES

D. FEDERATED set to YES FED_NOAUTH set to YES

AUTHENTICATION set to SERVER or SERVER_ENCRYPT

Correct Answer: D
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